Mame:

Number of Questions: 30
Testing: 2x, 10x (with inverse)

2x8=_ §+2=__ 10x8=__
20+10=_ 2x9=_ 10+10=__
5x10=_ = §5x2=__ Mx10=__
2x11=__ = 10x2=__  10x10=__
6+2=___  60+10=__  10x9=_
40+10=__  2x3=__ 80+10=__
Mx2=_ 9x2=__ 120+10=__
10x6=__  4=+2=__ 3x10=____
2+2=__  30+10=___  10+2=__

90 = 10 = 10x2= 2% 5=



Mame:

Mumber of Questions: 30
Testing: 5x (with inverse)

12x5=__ 25+5=__ @Bx5=_
30+5=__ 9x5=__ 5x4=__
50+5=___ 5x10=____ 5x1=___
5x2=__ 4x5=__ 56+5=__
5x3=__ 8x5=_ 10+5=__
45+5=___ 10x5=___ B+h5=__
1x65=__ 5x5=_ 5x7=__
20+5=__ 5x8=__ 40+5=__
35+5=__ 11x5=__ 7x5=__

5x 11 = 5xQ= 3x5=



Name:

Number of Questions: 30
Testing: 3= (with inverse)

27 +3=__ 5x3=_ I3x2=__
Ix7=__ 6x3=__ 9x3=__
9+3=__ 3x6=__ 3x9=__
1x3=__ 3x10=__ = 10x3=__
Ix1=__ 24+3=___ = 8x3=__
MMx3=__ = 3x8=__ 3+3=

7x3=__ 18+3=___ = 6+3=

Ixb= 33+3= 2x3=

Ix4= 12%x 3= 30+3=

36+3= 4x3= 3x3=



MName:

Number of Questions: 30
Testing: 4= (with inverse)

12+4=__  32+4=__ Tx4=__
20+4=__ 8x4=__ 4x7=__
4x1=__  40+4=___ 9x4s=

48+4=__  4x2=__ 8+4=__
6xd4=__ 4x12=____ 3x4=

4x10=__  4x4=__  4x1=__
5x4=__  10x4=__  4x5=_
36+4=_  24+4=_ 4x3=__
1Mx4=__  4x8=__  28+4=__

2 x4 = 4x9= 12x 4 =



Mame:

Number of Questions: 30
Tesling: 6x (with inverse)

J0+6=

18+6 =

7x6=___ 6x9=__

54+6=___ 6x3=_____ Bx6=
9x6=___ 36+6=____ Bx2=
6x1=___ 42+6= 2x6=
5x6=__ 6x12=

12+6=___ 4x6=_____ 66+6=
12x6=___ 6x11= 72+ 6=
48+6=___ 6x5=_ 11x6 =
6x10=___ 24+6=_____ 10x6=
60 + 6 = 6x8= 8x6=



Mame:

Number of Questions: 30
Testing: 9= (with inverse)

9xbh= 9x2= 9+Q9=

9x9= 54 +9Q= 72+9=
10x9= 6x9= 9x11=

M=x9=__ 12x9=__ = T7Tx9=__
+9=__ = 99+9=__  9x10=__
18+9=__ 5x9=__ 4x9=_
27+9=___ = B63+9=___  9x1=__
3x9= 9x6= 2x9=

108 +9 = 81+9= Qx4=

8x9= 9x8= 9x12=



Mame:

Number of Questions: 30
Testing: 7= (with inverse)

7x4=___ Tx6=_____ 28+7=__
70+7=___ 8x7=____ 42+7=
7x1=__ 14+7=__  4x7=_____
7x2= 63+7= 6x7=

10x7=__ 7x9=___ 7x3=
77+7=___  7x10=____ 1xT7=
1Mx7=__ 2x7= 7x7=
7+7=__ 49+7=____ 3xT7=

84 +7= 5x7= 7x11=
7x5= 9x7= 35+7=



Name:

Number of Questions: 30
Testing: 8x (with inverse)

9x8= 7x8= 56 + 8 =

8x4=__ 8x5=__ 32+8=___
5x8=__ 8x9=__ 10x8=__
12x8=__  8x6=__ 3x8=__
16+8=__ Mx8=__ = 8xM11=___
2x8=__ 6x8=__ g§x12=__
8x1=__ 64+8=__ 8x10=__
80+8=__ = 88+8=__ 8+8=__
8x2=__ 8x8=__ 72+8=__

24 +8= 96+ 8= 8x3=



Name:

Number of Questions: 30
Testing: 11x, 12x= (with inverse)

108+12=__ 11x11=__  5x12=__
4 +11=__  Mx10=__ 12x4=__
12x3=__ = 9+11=__  10x12=__
7x12=__ 12x2=___ 11x2=__
88+11=__  22+11=__  10x11=__
12x7=__ 132+11=__  11x6=__
4x11=__ 72+12=__ 11 x12=__
1Mx4=__ 12x11=__  12x8=__
8x11= 12x6=__  66+11=__

144 = 12 = 77+ 11 = 60+12=__



Children have two minutes to answer: 12 for Bronze, 15 for Silver and 20 for Gold
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